pescripion: HIGH DENSITY DIP SOLDER MALE

POS. A B C D E F G
15 | 1:213 [0.984 0.666 [0.756 [0.329 [0.090 [0.496
+015 30.80 [24.99 [16.92 [19.20 [8.36 | 2.29 [12.60
R o6 | 1543 [1.312 [0.994 [1.091 [0.329 [0.090 |0.496
+,004 39.19 [33.32 | 2525 |27.70 | 836 | 2.29 [12.60
<B> 44 | 2087 [1.852 [1.534 [1.618 [0.329 [0.090 [0.496
N 010 53.00 [47.04 | 38.96 |41.10 | 8.36 | 2.29 [12.60
<c> 62 2732 [2.500 | 2.181 [2.256 [0.329 [0.095 |0.496
69.30 |63.50 |[55.42 [57.30 [8.36 | 2.41 [12.60
—————— £ 010 4g | 2638 [2.406 | 2.079 [2.169 [0.445 [0.095 [0.606
67.00 | 61.00 [52.80 |55.10 [11.30 | 2.41 [15.39
+,010
<G> 240
PIN #1 610 180-YYY-113RYY1
L sece T
%ﬁ o s
078
'A%) j GENDER
<F> ' 157 1=MALE
4.00 2 =FEMALE
156 TERMINATION
+.010 S 1 = VERTICAL DIP SOLDER
-~ (D) ———= 3.96 SHELL PLATING
429 3 = NICKEL
10.90 ™ —~ HARDWARE OPTIONS
30.024 00 = NO HARDWARE
' 01 =.098 4-40 CLINCH NUT BOARD SIDE
02 = .250 4-40 CLINCH NUT BOARD SIDE
SPECIFICATIONS: 05 = 535 440 BOARD LOCK 1o SO
MATERIALS: 91 = .225 4-40 SPACER/BOARD LOCK
SHELL: STEEL, NICKEL PLATED PLATING QRTINS
INSULATOR: UL 94V-0 RATED BLACK NYLON 9T
ROHS COMPLIANT XEES'EI'HERQ\(?VI&IF?ESR T@N%FSIF\’IEC(I:FICATIC')AI\'#SD DRAWN: DATE:
ELECTRICALS: _ Ay S bl PAM JENKINS 9-12-05
CURRENT RATING: 2 AMPS R UEER S THE BASIS FOR THE s | CHECKED: DATE:
CONTACT RESISTANCE: 15 mOHMS MAX WITHOUT WRITTEN_ PERMISSION. . _
INSULTOR RESISTANCE: 1000 MOHMS MIN SCALE: SEET O g |

VOLTAGE: 500V AC FOR 1 MINUTE
TEMPERATURE: -50°C TO +100°C

NorComp

DWG NO.

180-YYY-113RYY1




DESCRIPTION:

PCB LAYOUT - VERTICAL - MALE

.6405
5455
4505
.3555
.2605
.1655
.0705

984
492
215 [——
.145
125
* PIN1 \ggi’\ 120 DIA. %
\\‘oohoo Cyfé;;i
O 00000
% 037DIA — | | oo 1
.080 g §
100 * %
170
— ~—.190
15 POSITION
2.500
9745 1.250
|~——.8795 9255
[~—> .7845 .8305
|=— .6895 —==— 7355 —=
.5945
4995
4045
.3095
2145
1195 sl
.0245 «T—
oooooooooohoooooooooo
O ©60000000030000000000 O
00000000 00POOOOO00O0
o72 - 023
= 118
167 213
262 .308
.357 403
452 498
547 .593
— 642 ——=— 688 —
737 .783
.832 .878
927 973
62 POSITION

.6175
4275
2375
.0475

NorComp

1.852
~— .655 .926
1312 ~ 565 ——|~— 605 —=
385 656 —= 475 515
295 335 .385 425
205 245 295 335
115 155 .205 .245
025 4= 065 115 155
O c>oooooooc|:DooocoooO O 025 _->i o
0000POOO O 00.0°0°00000000600°0 O
L 020 0000000POOOOOO
.070 <l . L
= 110 070 = .020
160 .200 B 110
250 —f=1 .290 160 .200
340 380 250 290
.340 .380
26 POSITION 430 470
520 .560
=— .610 ——t=— 650 —
44 POSITION
2.406
1.203 9025
.8075 7125 —=
o 180 SERIES
35 HIGH DENSITY
, ¥ ©
1428 38 VERTICAL
C000°0.0.0°0.0.0°0.0.0°0.00°0.00 0 .| ‘
O ooooooooooooooooooooooooooooooooooooooo _'f'f-_f f HOLE PATTERN SHOWN
o0s e 't ARE FOR MALE
285 190 S 38
475 .380 |
065 o790 % TYP.ON ALL SIZES
.855 760
78 POSITION
DO NOT SCALE FROM DRAWING
XEES%HERQ\(?VIC%\IF?ESR T@N%FST\’IEC(I:FICATIC')AIFI\ISD DRAWN: DATE:
orCom
oL 0 P ReponueeD, Lo | PO JERKIRS L 1
MANUFACTURE OR SALE OF APPARATUS CHECKED: DATE:
WITHOUT WRITTEN PERMISSION.
SCALE: SHEET OF 3 RE7V
DWG NO.

180-YYY-113RYY1




DESCRIPTION: CLINCH NUT HARDWARE |

TOLERANCE:

ALL DIMENSIONS ARE +0.010

ALL CLINCH-NUTS ARE 4-40 INTERNAL THREADS

01X..... 0.098" (BOARD SIDE) - CN1

r 0141
0.098 ]

05X ..... 0.237" (BOARD SIDE) - CN10

02X ..... 0.236" (BOARD SIDE) - CN2

e
—+

0.236

r 0.280

0.237 :|

03X..... 0.236" (MATING SIDE) - CN8

* r 0.236
Tf

0279

91X ..... 0.237" BOARD SIDE
0.197 MATING SIDE
CN10/SFS04404

E 0234 0.506

nall

NOTE: 4-40 FEMALE SCREW LOCK IS REMOVABLE

DO NOT SCALE [FROM DRAWING

L

THESE DRAWINGS AND SPECIFICATIONS DRAWN: DATE:

ARE THE PROPERTY OF NorComp AND 11-28-05
SHALL NOT BE REPRODUCED, COPIED WAYNE ROBBINS

OR USED AS THE BASIS FOR THE CHECKED: DATE:
MANUFACTURE OF SALE OF APPARATUS

WITHOUT WRITTEN PERMISSION.

RoRS COWIPLIANTT

NOrCOmp 180-YY:(-11(:RYY1 7

SCALE: SHEET OF REV




		2008-12-13T13:38:07-0800
	ch




